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◆次の二次方程式を解け。

⑩ 2x2x2  5x5x  3  0

x 
5  52  4  2  3

2  2 
5  2525  2424

4


5  4949

4  5  7
4

x  1212
4 , 2

4 x  3, 1
2

⑨ x2  6x6x  7  0

x 
6  6 2  4  1  7

2  1 
6  3636  2828

2


6  8

2 
6  2 2

2
 3  2

⑧ 2x2x2  7x7x  4  0

x 
7  7 2  4  2  4

2  2


7  4949  3232

4 
7  1717

4

⑦ x2  5x5x  1  0

x 
5  5 2  4  1  1

2  1


5  2525  4

2 
5  2121

2

⑥ x2  x  5656  0

x  7x  8  0
x  7, 8

⑤ x2  2525  0

x  5x  5  0
x  5

④ x2  3x3x  2828  0

x  7x  4  0
x  7,4

③ x2  6x6x  9  0

x  32  0
x  3

② x2  3x3x  1010  0

x  5x  2  0
x  5,2

① x2  7x7x  1212  0

x  3x  4  0
x  3,4
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◆次の二次方程式を解け。

⑩ 3x3x2  7x7x  2  0

x 
7  7 2  4  3  2

2  3 
7  4949  2424

6


7  2525

6  7  5
6

x   2
6 , 1212

6 x   1
3 ,2

⑨ x2  8x8x  1010  0

x 
8  8 2  4  1  1010

2  1 
8  6464  4040

2


8  2424

2 
8  2 6

2
 4  6

⑧ 3x3x2  5x5x  1  0

x 
5  5 2  4  3  1

2  3


5  2525  1212

6 
5  3737

6

⑦ x2  7x7x  9  0

x 
7  7 2  4  1  9

2  1


7  4949  3636

2 
7  1313

2

⑥ x2  4x4x  2121  0

x  7x  3  0
x  7, 3

⑤ x2  3x3x  5454  0

x  9x  6  0
x  9, 6

④ x2  12x12x12x  3636  0

x  62  0
x  6

③ x2  5x5x  2424  0

x  8x  3  0
x  8,3

② x2  4949  0

x  7x  7  0
x  7

① x2  8x8x  1212  0

x  2x  6  0
x  2, 6
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